S Ao ANSAFY (9l : @
HE = = gl 1
| . AF =2 97,505,500
22+ 94,558,500
HI|2d2 92,999,900
oS3 91,649,900 |[S& Xt 3,786
cCHE2=3 1,350,000 |17 2| &
HEJISZES 1,398,600
HIED JHeIS23 1,398,600
SHSAS 160,000
SgESAAZ 160,000 [d1E 2LAIZ=E
= 2,944,000
ATTHAE | 44,000
wW=2AE- 2,090,910 [==38F H= ZPAHHI
AAXZD 809,090
JIEFAE =2 3,000
A= & EOH~ 3,000
I A2 2SI 14,638,529
oAy 10,700,573
=0 (&) 7,901,352
MIBEHEHZ2 (& 882,540
S| EMH|(2) 56,800 =D AIE&
n=sad (&) 1,195,720 |AI2 X Q82014 & HAE
EXZ 0 (&) 664, 161
AN&H S 698,805
= ZEH( () 25,755
HAE2AX2 () 369,600
HE22elH (&) 303,450
JIEHHI 2 3,239, 151
A2E2EH (&) 13,100
3o/ (2) 79,820
A QIAHI(2) 258,200
S AH| (&) 851,447 |AAIOIE Ol€2 L M3 =
28| (2) 2,270
NSE2=2(H) 1,022,129
S84 (&) 507,855 |HIOIAS &8
Z X AHH] (2H) 265,000 |Z 2
IS (&) 239,330 |HZED W
Il AF 2| 66,887,664
oladH|&E 59,402,712
=0 49,840,243
AN EEESS 4,252,160
SRS, 3,912,119
S| S| 6,000
2+ AbHI 1,000,000
&= 392,190 |=HIOIAl M& GO0IH &l
AEH 2 6,452,865
ASAXS 4,410,400
22l 1,769,600




= EH 272,865 |HIIAl
JIEHHI S 1,032,087

O H| w SH| 108,700

3| 2J | 336,800

Sl 419,583 |AEIHI MEE

aguigs] 103,504 |AMA 25 & SE=

Ne=2 2,000

SH AHHI 36.500

SE =S M A 25,000 [AATX MIZ OIOIK =&
V. AH 2| =2 650,000

e e 650,000 | Xtel otE XI&=S
V. AL QHI S 1,570,000

EDIS8ES 1,570,000 [W=2° &
Aol (£=4) 15,059, 307
XNE0E=S 39,853,700




